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0.

9.

10.

11.

Mark answer only in the circles provided. Do not make any stray mark anywhere on the OMR sheet.

Do not fold or wrinkle the OMR answer sheet.

YT B TR F Ber T F sifEq FY A TR IR TIE W GHA 9 Goon §al 7
g TR, wmﬁm|mmmmﬁmnmmww37?ﬁ%?ﬁm
e fe s foust aepl fangerd stemed w1 gni

Rough work must be done on the space provicl'f,;d in question booklet. Rough work must not be done

on OMR. sheet.
mﬁﬁﬁm&mﬂmﬁvﬁmﬁ|mmmﬁm‘1ﬁwaﬂwm“ﬁ'

Darken only one circle for each answer as shown in the example below. If you darken more than

one circle, your answer will be treated as wrong.
Example: Right Answer Wrong Answer

0CO® |_1BIOL
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Do not open the Question booklet unless you are asked to do so. Time will be counted after you have
been asked to open the test booklet.
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On opening the Question booklet, the candidate will immediately check up that it contains all the
pages. Discrepancy, if any, should be reported to the invigilator within five minutes of opening the
test booklet so that it can be changed. After this time the Question booklet will not be changed.
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Candidate will not be permitted to leave the examination hall before the expiry of the exam. Before
leaving the examination hall candidate should make it sure that the OMR answer sheets have been
handed over to the invigilator.
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In case of discrepancies in Hindi and English version of question papers, Hindi version will be
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1. The origin of the word ‘communication’ is : .

(A) Communicare (B) Commun
(C) Communicate D) Computer.
R AR BTG oo, qgidl

(A) e ® v

(©) =gfme ‘ (D) ==

2. The first language which we learn as a child :

(A) Dialect (B) Jargon

(C) Vemacular (D) Mother Tongue.
Tee A o ' T w S w e

(A) <ret (B) =S

(C) =iy (D) wgHm

3. By what method we can know what the receiver understood or got the message ?
(A) Listening
(B) Transmitting
(C) Message
(D) Feedback. .
TRt 3 Tt W wwm @ vw W foan, few fafy @ g0 e wom wwa 2
(A) T
(B) w=m
(€) =
(D) w=aw|

4. Which type of word is generally not used in verbal communication ?

(A) Technical (B) Simple
(C) Easy (D) Local.
HTPHRE T & ar: e TR R v B T
(A) THEAIR TR (B) WMAW =R
(©) ImA = (D) wHE T=)
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5. can be presented by face,

(A) Gestures (B) .* Expressions
(C) Body Language (D) - Para Language.
...................... < BRI W w1 €

(A) ifr (B) ®E-¥E

(C) <@-wm (D) G-

6.  Which of the following shows a positive facial expression ?
(A) Rolling up your eyes
(B) Frowning while concentration
(C) Smiling continuously
(D) Maintaining eye contact.
Frafafaa 4 @ fras g 98 2 em-9m 1 geres afveafa o6t 82
(A) 3@ ® qEE-fera |
(B) Rt =T

(C) MR H&=Ra
(D) 50 ¥ TR foast || w5

7. Using abbreviations in communication leads to which type of communications barrier ?

(A) Linguistic (B) Physical

(C) Cultural (D) Social.

WA ® A WD e P Qo TR # s Sa= e $
(A) s B) ifew

(C) wrepfes - (D) wmfsE

8.  Which can be used to overcome the communication barrier ?
(A) Using your own language - (B) Using translator

(C) By writing a letter (D) Not communicating at all.
AR Y # fmus g [ a1 w5ear 22

(A) ST 99 % W& g@ (B) {ER& 3
(C) YAER gR (D) 31HER g
P-499 (4)
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9.  Straight body posture shows what ?

(A) Confidence (B) :'. Pride
(C) Professionalism (D) . Humility.
T T aE i s

(A) Ffavar (B) . uHE

(© ==Efasm (D) Tl

10. Which of the following is a positive facial expression ?
(A) Staring hard
(B) Wrinkle forehead
(C) Looking somewhere else
(D) Nodding while listening.
= F 4 SF-w S %1 sEnew 99 27
(A) |
(B) W& W gftar
(© =7 g
(D) T wwa f feemet wenfal

11. Sending a letter is which type of communication ?

(A) Reading ¢+ (B) Speaking
(C) Written (D) Listening.
TR fF9 YR & WaER 87

(A) T (B) a=A

(C) fafes (D) Fam

12. The abilities to communicate properly are :

(A) Read (B) Speak
(C) Write (D) Al of the above.
(A) W& ®) @
(C) feaam (D) I T
P-499 (5) (P.T.O.
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... is not a communication barriet,

(A) Physical ,1(B)  Habits
(C) Culture (D) Language.
........................... HER-3ERY T 81
(A) viffes (B) ¥md
©) wegh (D)
14. The communication cycle does not include :
(A) Sender
(B) Massage
(C) Receiver
(D) Programming
WIR-9% H ot T ¢
(A) Ve ' =
(B) W
(C) wea
(D) mmfam)
15. Which method is good for taking leave in the afﬁce ?
(A) Meeting (B) E-mail
(C) Notice (D) Posters.
Fied d SEHM o1 % faT FR-T 70w S 32
(A) % ®) W
© g=1 D) W=
16. To understand the message properly the receiver need to .............
(A) lgnore ' (B) Throw
(C) Avoid (D) Listen.
e G TR T T T B R TR B wfemy
(A) & FT (B) YwEA
(C) =@ & (D) g
P-499 (6)
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17. Keeping shoulders straight right and body relaxed is an example of :

(A) Eye Contact '(B) Facial Expression
(C) Body Posture (D) Gesture.

Ful F W ol 2 = fvw @ @ seEw €

(A) 9 o= (B) = 3 W&

(© Z&-dfim (D) w4l

18. What is the final step in the communication cycle ?

(A) Receiving (B) Feedback
(C) Decoding (D) Encoding.
A9 1 affew = 7@ 82

(A) W9 FT : (B) weds
© feFe wm | ©) e T

19. The word used in the place of noun is called -

{A) Pronoun

(B) Verb

(C) Adverb

(D) Adjective.

fFd 591 3 W W W 6 T v TR §

(A) ™

B) f&m

(C) fwra-fagmo

(D) fodon

; i CooE b

20. The word used to express emotion and is often followed by an exclamation mark is called :

(A) Adverb (B) Verb o

© lInlcrjection (D) Conjunction. .

T F R W A =R, e 1 faemaive faes @ s §, weer & k*

(A) T ®) e

(C) foarfeEius (D) ®Y=G Y|
P-499 @ [P.T.O.
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. . is called :
21. The process in which the receiver interprets’and understands the message 18 ¢

(A) Decoding '(B) Encoding

(C) Feedback (D) Feeling.

st fornd Y sraedl wiw @ wren ot R W w8, 98 Fed §
(A) fapie= (B) @Hd

(C) wigds (D) wEgy F

22. Which of the following is an example of oral communication ?

(A) Phone calls (B) Email

(C) Letter (D) Newspapaer.
= 4 3 sh-w @ dfes g9R w1 e

(A) WA & (B) #-u«

€ w : (D) EHER-TI

23. Pointing finger to someone is an example of :

(A) Expression (B) Gesture

(C) Body Language (D) Para Language.
ol A 3R Inelt | wF9 T @ ™

(A) ¥@-vra (B) wad

(C) 3F 9m | (D) 9/ w7

24. Which of the following includes the tone, speed and volume of voice 7
(A) Eye Contact
(B) Body Language
(C) Para Language
(D) Gestures. )
frefafas 4 @ fead smam & 9x, 7fa iR oftamor wfive €7
(A) 3 Tus
(B) =¥ WMl
(C) U w9

(D) E-9a

P-499 (8)
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25. Which communication method does not requice-any. language to understand?

(A) Non-verbal (B) Visual

(C) Verbal (D) None of above. '

fru dar & 7ls § 5 9w T P smavasa @ e

(A) H-tifa® (B) T

(C) wifas (D) IWF H | HE T
26. Communication is- a part of ................. skills.

(A) Soft (B) Hard

(C) Rough (D) Short.

L3 11 SR HITE HTE I R

(A) W (B) @€

€ g (D) W@l

27. 'The communication which provides an opportunity for direct interaction among members in called :
(A) Group discussion
(B) Mass Communication
(C) Intra Personal Communication
(D) Electronic Communication.
T o el $ vea: Aa-Sie w1 A i 2, e
(&) wnffe <
(B) ¥ ®WER
€) wEAtES
(D) wgfw weRI

28. In terms of communication, a photograph is considered as a/an :

(A) Balanced text (B) Complex text
(C) Open text (D) Closed text.
TR & w0 O RIS B ® &y ¥ Tev fHa W
(A) wHife e (B) wfewt WS
€ T e (D) &= WS
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29.  Communication skills are very important in 211 3

(A) Occupation (B) Business
(C) Both (A) and (B) (D) None of the above.
(A) =F=EE (B) &R
© (&)@ ®) ¥ ¥ ©) IWw A ¥ FE T
30. Effective communication helps us ...ocvverrvvennnne. properly.
(A) Read (B) Write
(C) Listen (D) All of the above.
LEICHECE |1 ST, o T WE N 2
(A) T _ (B) fa@
€ g (D) 3y g
31. To communicate effectively, one must be able to ............... properly.
(A) Read
(B) Write

(C) Speak and Listen
(D) All of the above.

el T ¥ HER ¥ faet =t ) 4 wam g =fe
(A) T
(B) fe@m
(C) <&t den g
(D) W= uvh
32. Sharing the information with the help of .................... is known as verbal communication.
(A) Sign (B) Word
(C) Visual (D)  Writing.
& T F T WEEA | W F AfEGs Gu9R Fua 2
(A) W (B) W=
©) T (D)
P-499. (10)

https://www.sdsuvonline.com


https://www.sdsuvonline.com/

33. Any device that multiplies message and takes it'to a large number of people is called
(A) Mass Communication .
(B) Interpersonal Communication o
(C) Group Communication
-+ (D)  Written Communication.
T HE I0H Tt Ww O e T 92 SF GRE % GEA ¢, 99 39 FEd §
(A) W9 HeR
(B) W& HeR
(€) ¥WE W
(D) fofEa wamI

34. Smiling when you are happy and making a sad face when you are sad are examples of

(A) Expressions

(B) Gestures

(C) Written

(D) None of above.

G TR 3R 3 ¥R WOSE W T H 9E T e See #
(A) TE-wE

(B) TR

(€) faamR

(D) 3w ® ¥ + 78

...................

-35. Globally, ........% of communication is non-verbal.
(A) 32%
(B) 70%
(C©) 93%
(D) 40%.

(A) 32%
B) 70%
(C) 93%
(D) 40%.

P-499 : (11) [P.T.O.
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36,

37.

38.

P-499

What are objectives of effective hearing ?-/ -
(A) Inspire proper hearing

(B) Understand real meaning of message
(C) Increase functionality

(D) All of above.

TEE a0 % T 5 82

(A) 3% I gam F Twom =

(B) ®W F arfaw wd %1 guge

(C) Friviern 4 sfg e

(D) I @

What should not be done in effective hearing?
(A) Focus on speaking than hearing

(B) Eye contact with communicator -

(C) Listening ﬁe message carefully

(D) Remembring message.

A Fa0 § T A HA |fge ?

(A) T & e @l W @M

(B) WYY ¥ TR A& (Eye contact)
(C) =W F TEYA J g

(D) W H g w@

.................. is barrier is hearing,

(A) Respect for communicator

(B) Anger after listening massage

(C) Positive body reaction during fearing
(D) Clarification for clearing doubts,

(A) wU9F F wfa g

(B) §3W ¥ Hifvm # W

(C) ¥ §wg few wiifw wiafea

(D) V1 VHYMM B TIRIH

(12)
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39.

40.

41.

In which of these, more than one candidate is interviewed ?
(A) Behavioural Interview

(B) The Stress Interview

(C) The group Interview

(D) The audition

= o fored uw @ o ardeet ® @R fe T 2
(A) =aeie TR |

(B) W@ wareR

€) v |mER

(D) =il

How should you dress for a Job Interview ?
(A) Jeans

(B) Lots of makeup

(C) Sweat Pants

(D) Formal dress.

A1 oG WEHER B TIY W B w
(A) i

(B) UG WhAY

© ™ ¥

(D) W gHl

Method of contacting a person for an interview that has the lowest rate of refusal :

(A) To telephone him

(B) To send him a letter

(C) To send him SMS

(D) To contact him-in person.

W 3 A T G 0 & dlF afF TR R 998 F9 8 ¢
(A) el gr |

(B) WANR FT

(C) THUATH g _

(D) =afdr@ &1 | Hoa)

P-499 (13)
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42.

[t is conducted to get in-depth information on any given issue from the respondent.

(A) Non-directive interview

(B) Clinical interview

(C) Focused interview

(D)  Structured interview.,

w4 et safem A faw o frelt o e @ R W B A, 7 e @
(A) AfFRITHT TR

(B) wefifel weIR

(C) wfxa W=

(D) WHETEE SR

43. A census taker usually collects data through which of the following 7
(A) Standardized tests
(B) Interviews
(C) Focus groups
(D) Observation.
T S0 FE I fe A @ frus gn i = v @
(A) WFSIFHd gligor
(B) GIaeRR
€) wEw 7u
(D) FEe
44. Which of the following methods is best to know more about the person by allowing him to express
freely ?
(A) Case study (B) Observation
(C) Interview (D) Survey method.
fe= A fiws g feelt safia &) aifveafam 31 T 39 38 ok atfus s w22
(A) 8§ == (B) FEEFA
(C) W (D) ¥
P-499 (14)
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45. When the questions are given in advance to the interviewee, it is called :
]
(A) Structured Interview

(B) Unstructured Interview

(C) Focussed Interview

(D) Non-directive Interview.

T TR F TER & v 2 R 9w 2, @ wed ¥
(A) FETHF WHEHR

(B) N-HT=HF WIERR

(C, =fsm wawR

(D) -FEfvm mamer

46. It is necessary for effective hearing :

' (A) Eye contact with communicater
(B) Listening the message carefully
(C) Remembering the message

(D) All of the above.
WU s e sEvas § .
(A) TWEF ¥, T
(B) W= W WEHF | T
(C) w=W F TR AR @
(D) I=a g9l

47.  What is not necessary for effective hearing ?
(A) Listening the message objectively
(B) Testing the truth of message
(C) Forgeting the message after hearing
(D) Positive body reaction after hearing the message.
yEge e & fou savEs @ R
(A) W * foy @ g
(B)" W # W@ w1 WA wn
©) VW F FH P T
(D) ¥W §H % arg M@ wife wifea 3

P-499 | (15) [P.T.O.
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48. What are the benefits of effective listening ?
(A) Increased capacity of listener
(B) Increased awareness about organisation
(C) Help in business
(D) All of the above.
WEYY e & @ e §?
(A) s # awa § gfg
(B) ®mA & Wy wmewa ¥ 9fg
(C) =ga@™ d§ werm
(D) SviET W

49. When a message is written, then which type of communication ?

(A) Written (B) Oral
(C) Both (D) None.
w4 §4u fofeeg €W & @ fem yer 1 5w g 22

(A) fofam (B) tifa®

(C) A (D) T ¥ i T

50. In which communication sender need not to be available before receiver during messaging ?

(A) Written (B) Oral

(C) Both (D) None.

R T 4 TRY F R T i ) G R @ e e R ® s T ae
(A) fofaa (B) Tifas

(C) A (D) 9 ¥ =X &

51. Circular is example of which type of communication ?

(A) Written (B) Oral

(C) Both (D) None.

TEE-T @ IR R TR F Wi w39 $2

(A) fefias | (B) fEw

(C) A D) T ¥ ¥ &)
P-499 (16) -
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52.

53.

Effective Listening Needs .......... .
(A) Listening message carefully
(B) Positive attitude towards communicator

(C)  Understanding sequence - of the message
(D) All of the above.

(A) W9 ] wm ¥ g

B) TF ¥ v few
(C) =%k % W9 & F9 7 gHEAl
(D) 3I=a @t

Which of the following is means of oral communication ?

(A) Radio

(C) Notice board
ﬁﬂf@hﬁﬁaaﬁq-mﬁf@mmmm:&?
(A) e

(B)
)

Newspaper

Diary.

FHER-TH

Oral

None.

Hfgs
7§ F A

Oral

None.

Hfas
FH § FE T

(B)
© = (D)
54. Telephone is which means of communication 7
(A) Written (B)
(C) Both (D)
< HT 1 R SER A 32
(A) fefes (B)
©) (D)
55. What kind of communication is done in official meetings ?
(A) Written (B)
(C) Both (D)
Frgiedt dowl § fRg yER w1 o w82
(A) fofaa (B)
(€) = D)
P-499 (17
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56. In which communication, in addition to words, body parts are used to add effectiveness in message,
(A) Written
(B) - Oral
(C) Both
(D) None.
e YR & Wi 3 v @ S Wi shil @ uReen g sl @ et R S 82
(A) fafas |
(B) if
(C) T
(D) ¥ [ *E T8

S7. In which type of communication we do not spend ?
(A) Oral
(B) Written
(C) Both
(D) None.
8 ¥R % Fiww § Fr9 © =g 168
(A) dfEs
(B) fofaa
(€ T
(D) W | FE T8

58. What care must be taken during selection of mean of communication ?
(A) Means speed must be slow
(B) Speed of means must be fast
(C) Means must be costly
(D) Means must be complex.-
I F W F G FW T 6 A e e e
(A) WA = ufg ot @ '
(B) #wa & wfq dw ®
(C) ¥YA Fga @dien &
(D) wA sfea 7

P-499 (18)
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59. Scope of communication is -

(A) Delicate (B) Limited
(C) Wide (D) None of above.
oYM F1 9 .
(A) TH (B) wgfww
(© fgE ©) T G =
60. Vedic communication theory is basis of process of which country ?
(A) Canada (B) India
(C) Egypt (D) Ukrain.
afeh ww fagr fv 2w &t ufwa 1 A 82
(A) wr=T B) ww
© fam | ©)
61. What of following is interview ?
(A) Science (B) Statistics
(C) Arns (D) Commerce.
AR a9 @ = 32
(A) faam (B) e
(C) el | (D) SR
62. Communication is a non-stop ...............
(A) Process
(B) Paper
(C) Plan
(D) Programme.
(A) Wi
(B)
(C) s
(D) FrEgEH|
P-499 (19) | (P.TO.
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63,

64.

65.

Message is any signal that triggers the response Of @ .cerivin -
(A) Driver

(B) Receiver

(C) Sender

(D) Cleaner.

The response to a sender's message is called ................
(A) Food bank

(B) Food

(C) Feedback

(D) Back.

T &% WY F ARG H T E e |

&) wE 9%

(B) W3

(C) WI=ZdF
(D) 9

.. context refers tocthe: relationship between the sender and the receiver.

(A) Social

(B) Physical

(C) Cultural

(D) Economic.

iviremresresens AW YO 3R WITRA B W I ) ZeT 2

(A) wmifas

(B) o

(C) wiepfes

(D) amfefar)

P-499 (20)
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66.

67.

68.

. refers to all those factors thar:disrupt the communication.

(A) Noise

(B) Non-sense
(C) Nowhere
(D) Nobody.

.......................... H TR I AW FRH! G ¢, A9 g FE 2

(C) =& =&
D) = 7@

Environmental barriers are the same as ...
(A) Physiological

(B) Psychological

(C) Physical

(D) Sociological.

e T A E, $ S
(A) wifraET

(B) WA

(©) fer

(D) s

Our dress code is an example of ...............

(A) Verbal

_(B) Non-verbal

(C) Written
(D) Spoken.

(A) Hfes
(B) s
(€ fafaa
(D) <ErE-= @

P-499
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Letter, E-mail, telephone are examples of ..o o
(A) Message

(B) Feedback

(C) Channel

(D) Encoding.

T, 3T, TEF, cvvrrerernsenns IO B

(A) W

(B) wigdw

(C) <=

(D) H2 =&

The message may be misinterpreted because of ..............
(A) Barriers

(B) Distortions

(C) Dastractions

(D) Destruction.

EiCE I 0 I % HRU A 1o R S g 2

(A) Tmm

(B) -3

(C) fawdu

(D) =1

The Christian Sign of the ........coeeeeee is a gesture pertaining to religion.
(A) Plus

(B) Minus

(C) Division

(D) Cross.

FAEA T o Uit w1 i e FT aren fam 2
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72.  In Oral communication there is 2 possibility of immediate .............c... .

(A) Reaction

(B) Response

(C) Anger

(D) Reflection.

wifEs T §
(A) wfdfsan

(B) e

(© %M

(D) wfdfawa

eensenes 1 FUTE] @A B

73. The ... is an exclamation mark.

74. Which of the following is not a punctuation mark ?
(A) ? |
(B) !
) <
D)
fr= § s-w famg fas T &2
(A) ?
B) !
€ <
D)

P-499 (23) [PTO.
https://www.sdsuvonline.com


https://www.sdsuvonline.com/

75. What are the types of interview skills ?
(A) Face to face
(B) Behavioural
(C) Telephonic
{D) All of the these.
AT e & FhR 71 22
(A) 3H3-|HA
(B) ==EIft®
(C) efwH gm

(D) 3wgsw |Hi

76. The word ‘interview’ is derived from :
(A) Latin
(B) French 19
(C) German
(D) English.

(B) W=
(C) A
(D) e

77. How many types of interviews are ?
(A) Two
(B) Four
(C) Three
(D) Five.
TaER F e W 27
(A)
(B) =R
(C) @M
(D) T

P-499 (24)
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78. The word Interview refers 1o a conversation between :

79.

80.

P-499

(A) Interviewer

(B) Interviewee

(C) Both (A) and (B)
(D) None of the above.,

WEER I ................. B AL AT A TG 2

(A) WATRIH

(B) W&

©) (A) 3 (B) 3

(D) 3wlew § } =+ =6

What are the barriers in effective communication ?

(A) Ego in Listner

(B) Cultural difference between communicator and Listner

(C) Both of above
(D) None of the above.

worEl T F oA arelt and €

(A) & H IEHER

(B) Tw® 3 #w ¥ wefes fu=m
(C) W =

(D) 3Waa 4 @ &% &

What is interchanged during communication ?
(A) Thought

(B) Fact

(C) Information

(D) All of the above.

Hyo § ferwe SEE-T B 32

(A) faEr

(B) @4

€ T

(D) IwEd w4l

(25)
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81. Seclect correct option :
(A) Communication is continuous process
(B Communication is two-way process
(C) Communication needs right means
(D) All of the above.
adt faweq sifeu :
(A) HYov maq WA @
(B) wwww fgmrft wfea @
(€ Wm @ fau 3fas mem N osEvEEd B €
(D) I [l

82. ....ccooeeeeen. 18 @ barrier in listening.
(A) Conversation during listening
(B) Peaceful environment
(C) Respect towards speaker

(D) Positive body reaction.

(D) 3faa wrife wfafwa)

83. o is @ barrier is listening.
(A) Small message
(B) Large message
(C) Message in simple language
(D) Good behaviour of communication.
FUEQ HE0 § A g:
(A) B 53
(B) = Fm
(C) T@ W § HW

(D) wOF F W AT

P-499 (26)
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84. Bamer in

(A)

effective communication are :
Lack of Capacity of listening in listner
(B) Reciting the message loudly

(C) Both of above

(D) None of the above.

TEY ST W A §

(A) 5 3 TR s w1 s

(B) WW % " ¥ T W

(C) IWT

(D) IWFW ¥ | +¥ T4

oL
un
-

Which of these is not a type of interview ?
(A) Screening interview

(B) Music interview

(C) Group interview

(D) Campus interview,

1 ¥ B TR w1 YR TE 87

(A) Wi wETeR

(B) Wild WaEHR

(C) V¥ SRR

(D) HwW IR

86. The word ‘personality’ has been derived from which language ?
(A) Latn
(B) French
(C) German
(D) Chinese.
‘Tt e few e @ g 7
(A) dfF
(B) w4
(C)
(D) =R

PTO.
P-499 27) [
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87. The word ‘personality’ has been derived from the word :
(A) Persen
(B) Person
(C) Persona
(D) Personal.
TR T fRE = R 3w 7
(A) w&
(B) wiA
(C) &
(D) wEEI

88. Dimensions of personality are ;
(A) Traits
(B) Motvation
(C) Character
(D) All of the above.
e ® o §
(A) <O
(B) ¥
(C) =&
(D) 3T |/

89. Repeated behaviour is called :
(A) Habit
(B) Character
(C) Value
(D} Nature.
Stefire e SR AT SRR T FE 82
(A) ‘
(B) =fA

(C) A
(D) @E|

P-499 (28)
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90. Who is healthy person 9

91.

92.

(A) That is awared about own feelings
(B) That lives in present

(C) That does not live
(D) All of above.
@ T A #2

(A) W I TS B w wmes @ §
(B) W wium ¥ W ¥

(C) S s o =& <

(D) ST aHi|

in past

Ink-blot technique is used to assess :
(A) Answer-sheets

(B) Elections

(C) Personality

(D) Future Assessment.

TH-sE S H FAm Fa E

(A) T

(B) F=

(C) =afFa wligw

(D) wfawgam

Which of the following is major determinant of* personality ?
(A) Physical environment

(B) Heredity

(C) Culture

(D) All of the above.

e s ® wo@ Ffes $H 82 x

(A) ifaer SR

(B) emgEmEH

(C) wwpfa

(D) Igd= |

P-499 (29)

https://www.sdsuvonline.com

[P.T.O.


https://www.sdsuvonline.com/

93 refers to sum total of the emotional tendencies of the person.

(B) Temperament

(C) Motivation

(D) Character

el =afe #1 TS e R Eq 9 B we §
(A) <&

(B) fors

(C) Wom

©) e

94. Behaviour of suspending supply of needs is called :
(A) Self-instruction
(B) Self-reinforcement
(C) Self-control
(D) Self-decision.
AavgEas wt gfd F wie $6 F 9w | = 5@
(A) ITH-ITRW
(B) Aq-WETH
(©)  sme-framm
(D) 3wey-fvig)

95. Total behaviour which happens regularity is called : https://www.sdsuvonline.com
(A) Character
(B) Value
(C) Habit
(D) Nature.
fraf ®9 @ ufer &7 98 ERr & ww s H S— Fe4 2
(A) ==
(B) T4
(€) =a
(D) w@9E|

P-499 (30)
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96.

97.

98.

Specific method of
(A) Value

(B) Nature

(C©) Character

reaction based on biology is called :

Sensitivity, irritablity, nervousness are some of the adjectiviés s€d to describe :
(A) Temperament

(B) Character
(C) Openness
(D) Motivation.

gazavied, fagfagme, gauee w5 vy &, 7% o F1 90H 0 & fag o &

Chiefly dimensions of personality are of ............... types. ~~' *'”
(A) Three

(B) Four

(C) Five

(D) Six.

Yq@ &Y ¥ S @ fhad s 82

(A) @R

(B) =n

(C) 4N

D) @l

P-499 (31) [P.T.O.
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99. As a person when we assess our value or merit, then it is called :
(A) Self-efficacy
(B) Self-regulation
(Cy Self-respect
(D) Self-esteem.
S & 9 4 79 7@ A T4 A A F1 AFEH FW@ § T R FEd 87
(A) 3cH-GEre
(B) -
(C) HAH-"HA

(D) ww-foig

100. The Thematic Appreciation Test (TAT) is used to assess :

~ (A) Personality
(B) Adultration of milk
(C) Pollution
(D) Answer-sheet.
Eire ks isc i cliee <6 VY B T - i E— # YegiFA ¥ B
(A) waferE
(B) 34 H femee
(C) W
(D) Fw-gfe
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